70 Pfeparé a balaﬁcé sheet from the fo!low.ihg pérticuléfs.‘

Stock velocity 16 '
Gross profit margin 120%
Capital turnover ratio 12 '
Fixed assets turnover - 14

Debt collection period : 2 months
Creditors payment period : 73 days

Gross profit Rs. 60,000
- Excess of closing stock over opening was Rs.5, 000.

8. - The following Trial Balance has been prepared wrongly. You are asked to prepare
“ the Trial Balance correctly.
- . Name of Account Debit Bal. | Credit Bal.
Cash in hand ' _ 4,000
Purchase Returns ) ' 4.000
Wages ' . 8,000
Establishment expenses B ' 12,000
Sales returns ~ : 8,000
Capital T I 22,000
Carriage outward -~ 2,000
Discount received . o S 1,200
5 C Commission earped . - B 800
| Machinesy ™. N 20,000
Stock at commerniceient - B - 10,000
Debtors. . _ 8000
| Creditors™? . N ) 12,000
Sales ~_ ' - - 44,000 .
Bank overdraft - 14,000
Manufacturing expenses 3 14,000
Loan from Ashok . , 14,000
Carriage inwards ' 1,000
{ Interest on Investment ‘ o -~ 1,000
- 1,14,000 1,14,000

Clos'ing stock was vaived at Rs 30,000,
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- Answer any five questions
All questions carry equal marks

- . i

I. What is demand? What are different types of demand?

2, The production function for Global Electronics is Q =2K"*I** with marginal
product functions for labor and capital given by _
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~ stock'if fixed at nine umts Jis ‘the pttee of the output is Rs.6 per unit and the wage
rate (w) is Rs.2 per uit, dctermlpe the optima] or profit maximizing rate of labor
to be hired. What labor rate 15 optlmdi i the Wage rate increased to Rs.3 per unit?

‘3.. What are the” ob_[ectfves of pucmg policy? Discuss clearly any two pricing
methods. 7 : .
4. What are the Ob_IECtWCS of Demand forecastmg‘? Dlseuss any 3 statistical methods

- of demand forecastmg

5.0 Whatis a-business-and_-.what ate its characteristic features?

6.- -A company is considering two mutually exclusive projects. Both require an initial
‘cash autlay of Rs 10,000 each, and have a life of five years. The company’s
required ratc of Teturn is 10 per cent. The projects will be depreciated on a
straight-line basis. Cash flows expected to be generated by the projects are as

fOHOWS
* Cash Flow (Rs)
Project 1 : 2 3 4 5
1A - 4,000 . 4000 4,000 4,000 4,000
B 6,000 3,000 - 2,000 5,000 - 5,000

'E:igd_ottt a).;Paybae_k:pe_rio_d.a;jd_'_-‘37___ b) Net _'p_r._esent‘ value. . -




